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(1) (4 x 10 —10) =6 (2) 6+(3—-4)+6

(3) 6+3-3)x7 (4) 10+ (3—-2) -2

(5) 8+7+(2-3) (6) 10+ (2x5) =5

(7) 6x (4—6)+3 (8) 6 — (3 x6—10)
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(1) 2—(9+3+6)

(3) 4x3—(447)

(5) 3— (10 —6) =4

(7) 9 — (8+2 x 3)

(2) (2-9x2)=8

(4) 8—2)x2—4

(6) (9—2—6) x5

(8) 5x 9= (T+2)
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(1) 65 x (4—9)

(3) 6x(2—9) =6

(5) 10— (4 x 2—2)

(7) 3 x 4= (7—10)

(2) 3—(4—6) x2

(4) 8—3)=5-7

(6) (8—9) x6+7

(8) 8=T)x7—9

]
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(1) (64+10)=2—5

(3) 2x(5—6)x3

(5) 3+ (10— 3 — 10)

(7) 8 x (5+4—10)

(2) (4—2—4) x4

(4) 10 x (10 —6) = 5

(6) 1043 x (7—9)

8) B4+5)x2—7

]
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(1) 3—-2+2)+3

(3) 8—8+(4+38)

(5) 8 — 2 x (3+4)

(7) (4—2)+4x6

(2) (4—8)x 347

(4) 8 — (6x2—09)

(6) 2 x 6= (2+4)

(8) 9% (3—4)+2

]
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E3 06 3
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(1) 4— (4 x4—6)

(3) 3-9)=+2+2

(5) (3+5)x5=8

(7) 6+ (2x3)—4

(2) 6=(8—5)—6

(4) 5+3—-9) x4

(6) 3+ (5—6)+4

(8) (3—4)x5+4

]
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(1) 6—6x (5—3)

(3) 644+ (6—4)

(5) (2+4) = 6+5

(7) (4—9+2)x38

(2) (9—10) x 10+ 9

(4) 4% (6—3—5)

(6) 82— (6+2)

8) 2+3+7)=3

]
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(1) 3—(349) =2 (2) (2—8—6)+3

(3) 3x(3+6-7) (4) (6—4)x4—-2

(5) 7T—(4x3—4) (6) 8= 10 x (7+3)

(7) 8+ (547) %6 (8) 4+ (2—10+3)
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(7)6x(4-6)+3
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1)6+5x(4-9)

6+5x(=5)

J—(—-2)x2
=7
4) 8—=3)+5-7
5+5—-17
==6
(6) (8—9) x6+7
—1xX6+7
-1
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(1) (6+10)+2—-5

16 +2-5

(4) 10 x (10—-6) =5

10x4+5
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1) 3-2+2)+3

=3+3
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(7) (4—2)+4x%x6
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=2x6+6

IN]

8)9Ix(3—4)+

[E 05 | E o6 [

ROEHHEZ LRIV,

(1)4—(4x4-6) (2)6+(8-5)—6

(5) (B+5)x5+8 6)3+(5—-6)+4

=8x5=8 =3+ (—1)+4
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=

(7)6+(2x3)—4
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=6—6x2
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=6+4+2

(5) 2+4) =645
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